QX eriond Ren penes
/éé- P~ e

e = ATA X oF =
elliccz = 2y x w2
(avirez dle)

Db Lo X BF “@ 6/‘”‘&’&‘““‘“ de (’m

A ‘t,«ﬁf‘(“’z@ — v ol

) (mq —relfen /f’f(.)u KQ?X(BJ«O @
+ W (Youy, C!,-fan_u_) = LIx OS(“ Qc/

5,06 % Ssl-{:iiil> .
+ arrenc CLMM\\JL ( fa uL.u_L,J = Z/‘ X O/Sr — (,g—g)

+ aver ou ( (ré Y’U’:?L\ C&e) ‘
Sle e e @‘Lc\/vc ~ &r{ | o N C DV

> CoabucSkues  (Pec) - pui po




A e )
W((/uéfl = Ze02x /‘5/@

ela - [Frode 037 x k0 {45
_A_a__é ; QlloK zg}"

( i Cﬂ-'—ff_J (e VOLUJ)

1’“’“\

R (S @_3 @ Ry
DE Fwo e /(:?’L()Q/(Ov@ 4 ZOYXOKK -—'@

k{@ ﬂ/lo _,@

»G’\’Z, (q)t%\TE\(
o (Frco) NO ssox kot =((6) A%
@\n\\' 076@0\6/\ e o

KBS(F'E onGM Q&) CUWLQ (1 X AT »@
DA ?SOK/(QO v@ E 1,0

CQAY @ UD\'Q(,O & ALV — ,.
_ &}x‘irz—@gf@ (> 1,%)

UES%QL ()&c/\ & (el \@m]

PAlea UsiS ot Zo7x 28 < 6,6

HRESHWE - 27K K 0% _,—@

Paliec Rarg - 218X K3 ‘*’
Z(Zr& A§3 = @

l =
PQ(&& E\QCS 03 = {
kPakce—\ fois & = R X AU - @




&0l 6nond  Ronk DENES @

T func prie )
\
CSU\'E >
Eh\"% 1L o 27~
W+ J/m: ©0,2 X [ =
CQ\ - 63 x 2,6 — @ QPM J‘)eci&wcw )
- _ 4“‘3\1&:5

C/Q_’\jf : (ﬂ‘zﬂ}“‘“} 133 x 2,3€ t@
(lepqewie w28y @(4 (&)

(’m 25¢ e?J

Tetal = T + G(f‘* A+ Gl *'G\FQ
= B0 £ 36 4 Wga 4 S3Y

— Uzr/g x|

————
——







